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Sr Questions Answers Choice

1 Previously surgeons had , without knowing it, infectedtheir patients on the operating-table
with germs.

A. Made disease
B. Troubled
C. Weakened
D. Disturbed

2 Lister's aim was the prevention of disease.
A. Reducing
B. Stopping
C. Checking
D. Removal

3 Lister and Pasteur revolutionized the theory and practice of medicine.
A. Changed somewhat
B. Improved
C. Modeernized
D. Completely changed.

4 The germs could be destroyed by antiseptics.
A. Disinfectants
B. Chemicals
C. Medicines
D. Drugs

5 Lister was medical peerof Pasteur.
A. Fellow
B. Friend
C. Helper
D. Assistant

6 They could not be seen with the nakedeye.
A. Bare
B. Unhelped
C. Unassisted
D. Open

7 For years Fleming sought to find a _____ to fight against bacteria.
A. Formula
B. Means
C. Resource
D. Hint

8 Lister used ____________ freely.
A. Poisons
B. Strong acids
C. Germ-killing medicines
D. air cleansers

9 ___________ surgeons infected their patients with germs.
A. Previously
B. sometimes
C. often
D. long ago

10 The discovery of penicillin has _________ ne research to find something bettter.
A. Started
B. Stimulated
C. Caused
D. Resulted in

11 Fleming tried to ____________ the drug, but failed.
A. Concentrate
B. Lighten
C. Clean
D. Purify

12 Lister ____________ his instruments with carbolic acid.
A. Cleaned
B. Sterilized
C. purified
D. aired

13 It was a ________________ dustiess laboratory.
A. Clear
B. Pure
C. Clean
D. Gleaning

14 Fleming continued to ____________ his faith in Penicillin.

A. proclaim

B. Describe
C. Explain
D. Show

15 Lysozyme was the _____________ of penicillin
A. Forerunner
B. Basis
C. Sister
D. Mother



16 Lysozyme was the _____________ of penicillin
A. Sister
B. Basis
C. Mother
D. Forerunner

17 The discovery was of __________ importance.
A. Considerable
B. enough
C. Some
D. Little

18 The problems was_____________
A. Difficult
B. Painful
C. Troublesome
D. Tremendous

19 His share was enough for him to train for a career with better___________
A. Result
B. Prfofit
C. Prospects
D. Gains

20 Fleming's share was enough for him to train for a/an ______ with better prospects.
A. Career
B. Business
C. Activity
D. Pain


